
Questão Resposta

1

F = 8 N

 τ = F × d = 8 × 20 = 160 J

2

vm =   
∆s

               ∆t 
 → ∆t =  1

80
 h 

vm =   
∆s1

      1       ∆t1

 → ∆t1 =  0,81
  90

 = 0,009 h

∆t2 = ∆t − ∆t1 =  1
80

 −    9  
1000

 =  25 − 18 
   2000
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 2000

 h 

vm
2
 = ∆s2

∆t2
 =  0,19

   7
2000

 =  0,19 × 2000          7  = 54,29 km/h 

3

v = 64,8 km/h = 18 m/s                   

aC= v2

R
 =   182

1200
 = 0,27 m/s2

FC = maC = 2000 × 0,27 = 540 N

4

Tipo de espelho: convexo.

Características: virtuais; 

direitas;  

menores / reduzidas.

5

P = Q
∆t

 → Q = P × ∆t = 15 × 140 = 2100 cal

Q = L × m      L =       =            = 70 cal/gQ
m

2100
  30

→
  

6

a = ∆v
∆t  =  1,2 − 0 

 0,3  − 0  = 4 m/s2

Px = FR

m × g × senθ = m × a

m × 10 × senθ = m × 4 → senθ = 0,4

7

dC =       =            = 1,2 × 103 kg/m3m
V

   1,2
  0,001

dL = m
V

 = 1,8 × 10−3

1,0 × 10−6
 = 1,8 × 103 kg/m3

Justificativa: como a densidade do corpo é menor que a do líquido, ele flutuará.
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8

m = 3,2 × 10−9 × 10−3 = 3,2 × 10−12 kg

qE = ma → q = 
3,2 × 10−12 × 104

8 × 105
 = 4 × 10−14 C

q = ne → 4 × 10−14 = n × 1,6 × 10−19

n = 2,5 × 105 elétrons 

9

P1 = (U1)
2

  → R1 = (U1)
2

  = 120 ×120  = 120 Ω
R1 P1 120

P2 = (U2)
2

  → R2 = (U2)
2

  = 240 × 240  = 400 Ω
R2 P2 144

Req =  
R1 × R2

  =  400 × 120  = 48000 = 92,3 Ω          R1 + R2         400 + 120        520    

P2 =  U
2 

=  120 × 120   = 36 W         R2                 400 

10

patm = 1,0 − 0,4 = 0,6 atm

plago = dgh = 1000 × 10 × 200 = 2 × 106 Pa

plago = dgh =   2 × 106 

                         105
 = 20 atm 

ptotal = patm + plago = 0,6 + 20 = 20,6 atm


